2.2 Practice Problems

1. Find the slope of the line passing through each pair of points.

a. {58 and (7,—12) b. {8,-3) and (7,—3}

2. Find an equation of the line that has a y-intercept of (0,8) and has a slope of m=—7
!

3. Write the point-slope form of the equation of a line with slope 3 that passes through the point
{5,—1). Then solve the equation for y
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4. erte the pomt slope from of the question of the line passmg through the points  (2,3) and

(7,4).  Then solve the equation for y. ;;) §i7

m L} oy ;

—

= p————— E—
) T,
T e -

of e iy y
\,_,g g '(f [N 4
| i
!

5. Graph the linear equation. 2

y=—§x+5
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6. Graph the linecar equation.

7. Graph the linear equation.

8. Find the slope and y-intercept of a line whose equation is

3x+5y—10=0.




Use the given conditions to write an equations for each line in point-slope form and slope-intercept
form. Use these directions for 9-12.
9. Passing through (=2,5) and parallel to the line whose equationis y=—4x+9.

Y5 = e < Polns Slope M=

e

10. Passing through { —1,= 3) and parallel to the line whose equation is  4x+3y= 12

Ux -4y
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11. Passing through (5,—'1 ) and perpendicular to the line whose équation is

.
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12. Passing through {7,1) and perpendicular to the line whose equation is 3x+5y=15. :
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